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Mathematical Reasoning

1. Find the difference between the smallest 5-digit
number and the greatest 5-digit number formed by
using the digits 6,8,2,5 and 9 (using each digit

only once).


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_RZuYTdJvVFeB

A. 27936

B. 72963

C. 56293

D. 39576

Answer: B

° Watch Video Solution

2. If the product of two numbers is 1728 and their

HCF is 12, then their LCM is__

A. 156


https://dl.doubtnut.com/l/_RZuYTdJvVFeB
https://dl.doubtnut.com/l/_KOkfifTqbs7g

B.144

C. 256

D.172

Answer: B

° Watch Video Solution

3. Which of the following options gives the result

ccc?

A. MXIII - DCCXIV

B. LXIV + CCXXVI


https://dl.doubtnut.com/l/_KOkfifTqbs7g
https://dl.doubtnut.com/l/_wkEcmtoNn9FV

C. CXXIX + CLXXI

D. XCVI + CClI

Answer: C

° Watch Video Solution

4. Which of the following properties is shown in the
given expression?
72(4+5)=72x4+T72x5

A. Commutative property

B. Closure property


https://dl.doubtnut.com/l/_wkEcmtoNn9FV
https://dl.doubtnut.com/l/_4M0mWTeMBUQl

C. Associative property

D. Distributive property

Answer: D

o Watch Video Solution

5. If a number is formed by interchanging the digits

at tens and thousands places of 7939, then which of

the following is correct?

A.New number > Original number

B. New number < Original number


https://dl.doubtnut.com/l/_4M0mWTeMBUQl
https://dl.doubtnut.com/l/_ZB7IWNS1YM9M

C. New number = Original number

D. None of these

Answer: B

° Watch Video Solution

6. Find the minimum number of points at which

three lines intersect.

Al

B.3

C.2


https://dl.doubtnut.com/l/_ZB7IWNS1YM9M
https://dl.doubtnut.com/l/_1jeGCqAkpckq

D.O

Answer: A

° Watch Video Solution

7. Using a ruler and compasses, which of the

following constructions can be made?

A. A circle, when the length of its radius is known.

B. The perpendicular bisector of a line segment of

the given length.

C.Both AandB


https://dl.doubtnut.com/l/_1jeGCqAkpckq
https://dl.doubtnut.com/l/_PDOg3TfseYrr

D. None of these

Answer: C

° Watch Video Solution

8. On a number line, humbers are marked at a
distance of 1 cm apart from each other. One end of a
line segment is at -8 and the other end is at 9. How

long is the line segment (in cm)?

Al

C.16


https://dl.doubtnut.com/l/_PDOg3TfseYrr
https://dl.doubtnut.com/l/_Mlt2YdM1qc3V

D. 17

Answer: D

O Watch Video Solution

9.1162 is divided into three parts such that 4 times

the first part, 5 times the second part and 7 times

the third part are equal. Find the parts.

A. 490, 392, 280

B. 492,392, 278

C. 493,329, 340


https://dl.doubtnut.com/l/_Mlt2YdM1qc3V
https://dl.doubtnut.com/l/_0LFPCGvH4Jud

D. 393, 290, 360

Answer: A

o Watch Video Solution

10. Find the fraction, if its decimal value is 0.6 and

denominator is 75

A35
75

55
75

. 5
75

5 85
75


https://dl.doubtnut.com/l/_0LFPCGvH4Jud
https://dl.doubtnut.com/l/_woGIxX345AJI

Answer: B

° Watch Video Solution

1. In the given figure (not drawn to scale),
AABC, AEFG, AKIJ and ANMO are 4 different
equilateral triangles. Find the perimeter of the

figure, if side of square PDHL is 8 cm, AC = 4cm, EG = 2


https://dl.doubtnut.com/l/_woGIxX345AJI
https://dl.doubtnut.com/l/_lW9NsZsNqNtW

cm, Kl =3 cm and MO =2 cm.

A.34 cm

B.64 cm

C.43 cm

D.52 cm


https://dl.doubtnut.com/l/_lW9NsZsNqNtW

Answer: C

° Watch Video Solution

12. If a=8and x =4, then

3ax + 6 — 9 .
3g — 4z — 2

A181
3

8192
T

C191
3

D181
2

Answer: D

the

value

of

| o


https://dl.doubtnut.com/l/_lW9NsZsNqNtW
https://dl.doubtnut.com/l/_iUhpDdKP4ZJM

| & Watch Video Solution

13. Which of the following squares should be shaded

to make the given figure symmetric?

A.Pand Q

B.Pand S


https://dl.doubtnut.com/l/_iUhpDdKP4ZJM
https://dl.doubtnut.com/l/_4TF67xcDeemO

C.QandR

D.Rand S

Answer: D

° Watch Video Solution

14. Find the area of the given figure.

2em



https://dl.doubtnut.com/l/_4TF67xcDeemO
https://dl.doubtnut.com/l/_vOz0QkqdSDc3

A.25.5sqg.Cm

B.23.5sg.cm

C.25sg.cm

D. 24 sq .cm

Answer: A

° Watch Video Solution

15. Read the statements carefully and select the
CORRECT option.
Statement-I: A circle is the path of a point moving at

the same distance from a fixed point.


https://dl.doubtnut.com/l/_vOz0QkqdSDc3
https://dl.doubtnut.com/l/_pUJojjQXrEdm

Statement-Il : A sector of a circle is a region in the

interior of the circle enclosed by an arc and a chord.

A. Both Statement-l and Statement-Il are true.

B. Statement-l is true but Statement-ll is false.

C. Statement-l is false but Statement-ll is true.

D. Both Statement-l and Statement-Il are false.

Answer: B

° Watch Video Solution

16. Arrange the following in ascending order.

6 2 4 3
1279’77 18


https://dl.doubtnut.com/l/_pUJojjQXrEdm
https://dl.doubtnut.com/l/_BLVOtyoLPOe3

A4 2 6 3
7797127 18
. 3 6 2 4
1871279’ 7
c 3 2 6 4
18797127 7
2 3 4 6
D°_7_7_7_
9" 187 77 12
Answer: C

° Watch Video Solution

17.The net of a solid is given. Identify the shape and

find the number of faces of the solid formed when


https://dl.doubtnut.com/l/_BLVOtyoLPOe3
https://dl.doubtnut.com/l/_44j1REhqzHJb

the net is folded.

A. Triangular pyramid, 4

B. Square pyramid, 5

C. Triangular prism, 5

D. Tetrahedron, 6

Answer: A


https://dl.doubtnut.com/l/_44j1REhqzHJb

o Watch Video Solution

18. Which of the following numbers is completely

divisible by 97

A. 596348

B. 965864

C. 695844

D. 746936

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_44j1REhqzHJb
https://dl.doubtnut.com/l/_XMYZmGtKuHSx
https://dl.doubtnut.com/l/_9Lro1l3b4MnT

19. Find the values of circles P, Q and R respectivel
such that the sum of the numbers in two
quadrilaterals equals to the value of the circle in

between them.

3 569
oo \( p ) 090048
3,769 i

A. 2.676, 8.064,9.742

B.7.334,6.442,2.332


https://dl.doubtnut.com/l/_9Lro1l3b4MnT

C.9.742, 2.676, 8.064

D. 8.064,9.742, 8.999

Answer: A

° Watch Video Solution

20. Which of the following ratios are in proportion?

A.150 g : 350 g and 35 kg : 210 kg

B. Rs. 60: Rs. 120 and Rs. 90 : Rs. 160

C.24cm:15mand 80g:5kg

D.3L:9Land 18 mL: 27 L


https://dl.doubtnut.com/l/_9Lro1l3b4MnT
https://dl.doubtnut.com/l/_kOOvjvKWp3IJ

Answer: C

° Watch Video Solution

Everyday Mathematics

1. A retailer bought 12000 strawberries. He threw 144
strawberries that were rotten. He packed the
remaining strawberries equally in 76 boxes. How

many strawberries were there in each box?

A. 156

B. 149


https://dl.doubtnut.com/l/_kOOvjvKWp3IJ
https://dl.doubtnut.com/l/_Xm4Je7AyW9lP

C. 160

D. 250

Answer: A

o Watch Video Solution

2.Ruhanika is organising a party for 480 people and
needs disposable glasses and straws. There are 40
glasses in a pack and 160 straws in a pack. She needs
exactly the same number of glasses and straws.
What s the minimum number of each pack she must

buy?


https://dl.doubtnut.com/l/_Xm4Je7AyW9lP
https://dl.doubtnut.com/l/_aRB4oHxN8OqN

A. 14 packs of glasses and 12 packs of straws

B. 15 packs of glasses and 3 packs of straws

C. 14 packs of glasses and 11 packs of straws

D. 12 packs of glasses and 3 packs of straws

Answer: D

o Watch Video Solution

3. Five square flower beds each of sides 1.2 m are dug
on a piece of land 4.8 m long and 4.2 m wide. What is

the area of the remaining part of the land ?


https://dl.doubtnut.com/l/_aRB4oHxN8OqN
https://dl.doubtnut.com/l/_9bX6mu8PiZYF

A.12.69 sq. m

B. 12.96 sq.m

C.11.96 sq. m

D. 144 sq.m

Answer: B

° Watch Video Solution

4. At present, Kirti is 12 years old and her mother
Kamlesh is 42 years old. Find the ratio of the
Kamlesh's age two years ago to Kirti's age two years

hence.


https://dl.doubtnut.com/l/_9bX6mu8PiZYF
https://dl.doubtnut.com/l/_TvOuHl429PtD

A 7:20

B.20:7

C.10:3

D.3:10

Answer: B

° Watch Video Solution

5. The breadth of a rectangular bed sheet is 5 m
more than half the length of the bed sheet. What is

the perimeter of the bed sheet, if the length is x m?


https://dl.doubtnut.com/l/_TvOuHl429PtD
https://dl.doubtnut.com/l/_8AYdNQD9ZTZU

A (3z + 12)m
B.2(x + 5)m
C.(3z + 10)m

D. (4z + 12)m

Answer: C

° Watch Video Solution

6. On one day, the temperature on a hill at 8 pm. Was
2°C but at mid-night, it fell down to —3°C'. By how

much did the temperature fall?


https://dl.doubtnut.com/l/_8AYdNQD9ZTZU
https://dl.doubtnut.com/l/_AUjgRXF1CqJs

A.5°C

B.6°C

c.7°C

D.8°C

Answer: A

° Watch Video Solution

7. Chinmay purchased 10 kg rice at the rate of Rs. 5
per kg, 15 kg 40 g sugar at the rate of Rs. 20 per kg

and 5 kg 60 g salt at the rate of Rs. 9 per kg. He gave


https://dl.doubtnut.com/l/_AUjgRXF1CqJs
https://dl.doubtnut.com/l/_gCbrW8CAa8Vs

Rs. 1000 to the shopkeeper. How much money did he

get back?

A.Rs. 234.94

B. Rs. 503.66

C.Rs.496.34

D. Rs. 743.99

Answer: B

° Watch Video Solution

8. Swati ate 1/2 of the candies she had and gave rest

to Jeny. Jeny kept 8 of the candies and gave rest of


https://dl.doubtnut.com/l/_gCbrW8CAa8Vs
https://dl.doubtnut.com/l/_BT3SHQBdDhtp

the 10 candies to Sakshi. How many candies did Swati
eat?

A.18

B. 24

C.72

D. 36

Answer: A

° Watch Video Solution

9. Three farmers have 165 kg, 190 kg and 210 kg of

wheat respectively. Find the maximum capacity of a


https://dl.doubtnut.com/l/_BT3SHQBdDhtp
https://dl.doubtnut.com/l/_a7n3v20VizxS

bag such that the quantity of wheat can be packed in

exact number of bags.

A.15 kg

B. 50 kg

C.45 kg

D.5 kg

Answer: D

° Watch Video Solution

10. Vidhi writes the smallest 6-digit number and Ridhi

writes the greatest 7-digit number on the


https://dl.doubtnut.com/l/_a7n3v20VizxS
https://dl.doubtnut.com/l/_33sUOrAsxnaU

blackboard. Their Maths teacher finds the difference
between the smallest 4-digit number and the sum of
the two numbers written on the blackboard. What
would be the answer?

A. 10099999

B. 10098999

C. 19999890

D. 10069998

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_33sUOrAsxnaU

Achievers Section

1. Fill in the blanks .
Aright angleis  of arevolution.
(ii) A figure whose all sides are equal and all angles

are is called regular closed figure.

integer.

(iv) of a number is a number that comes just

after that number.

P 0 R S
A, One-fourth  different positive  successor
B, One-third differemt  negative  predecessor
C.  One-fourth  equal posilive  successor
[3.  Half equal negative predecessor

o Watch Video Solution



https://dl.doubtnut.com/l/_TILM5bxM8QI2

2. State 'T' for true and 'F' for false and select the

correct option.

(i) Set-squares are useful to draw parallel lines.

(i)

3
13.5+4—=+9

8

1
8

4
+ 8+ 6—

8

1
> 12.5—|—5§ + 8 + 14.6

(iii) Zero is less than every negative number

(iv) 4 more than -7 is -3.

== B

=5

i1

ii

ii

1
T

111

iii

111

111

F

1v

v

1v

iv


https://dl.doubtnut.com/l/_TILM5bxM8QI2
https://dl.doubtnut.com/l/_LxPMGXoLrHDL

Answer: B

° Watch Video Solution

3. The given bar graph shows the sale of different

brands of shirts in a shop in one month .

T

Number of shirts sold <
sEsg&s223

(i) How many total shirts are sold in the month?
(i) Find the fraction of number of shirts sold of

brand S to the number of shirts sold of brand P and


https://dl.doubtnut.com/l/_LxPMGXoLrHDL
https://dl.doubtnut.com/l/_0IZbR1tO1AuG

R together.

(i) (ii)
A 195 B
' 9
B, 200 13
"
C. 165 1"
;
D 195 13
"

° Watch Video Solution

4. Study the given number lines and find the value of

(S+R) = (P—Q).


https://dl.doubtnut.com/l/_0IZbR1tO1AuG
https://dl.doubtnut.com/l/_wFPuD80ygrYo

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_wFPuD80ygrYo

5. Match the figures given in Column-l with their
shaded ratio given in Column-ll and select the

correct option.

Column-1 Column-11
(P) % i) 3:5
(Q) E (i) 7:13
(5) — (v) 1:2

)

(P) — (), (Q) — (i), (R) — (2), (§) — (i)


https://dl.doubtnut.com/l/_2YBO1RBANGWs

(P) = (iv), (Q) — (i71), (R) — (i), (5) — (4)

(P) = (i), (Q) —= (iv), (R) — (i), (5) — (%)

(P) — (), (Q) — (i), (R) — (i), (§) —= (4)

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_2YBO1RBANGWs

